goniometria

Angoli associati

angoli supplementari

angoli complementari

secondo quadrante

primo quadrante

sen(180° — @) = sen a

sen(m—a) =sena

sen(90° — a) = cos a

T
sen (E— (Z) = (0 Ssa

c0s(180° — @) = —cos «

cos(m—a) = —cos a

c0s(90° —a) = sena

/[
cos (E_ (Z) =sena

tg(180° —a) = —tg «

tgim—a) =—-tg«a

tg(90° —a) = ctg a

tg(g—a) =ctga

ctg(180° — a) = —ctg a

ctg(m—a) = —ctg a

ctg(90° —a) =tga

ctg(g—a) =tga

angoli che differiscono di un angolo piatto

angoli che differiscono di un angolo retto

terzo quadrante

secondo quadrante

/s

sen(180° + a) = —sen «a sen(m+a) = —sena sen(90° + a) = cos a sen (E + a) =cosa
/s

c0s(180° + a) = —cos a cos(m+a) = —cos a c0s(90° + ) = —sen « cos (E + a) = —sena

tg(180°+a) = tg a

tgim+a) =tga

tg(90° + a) = —ctg «

tg (g+ a) =—ctga

ctg(180° + @) = ctg a

ctg(m+a) =ctg a

ctg(90° +a) = —tg a

ctg (g+ a) =—-tga

angoli esplementari

angoli la cui somma e 270°

quarto quadrante

terzo quadrante

3

sen(360° — a) = —sen «a sen(2m —a) = —sen « sen(270° — a) = —cos a sen (En - a) =—cosa
3

c0s(360° —a) = cos a cos(2m—a) = cos a c0s(270° — a) = —sena cos (En — a) = —sena

tg(360° —a) = —-tg a

tgn —a) = —-tga

tg(270° —a) = ctg a

3
tg(zn—a> =ctga

ctg(360° — a) = —ctg a

ctg(2n —a) = —ctg a

ctg(R70° —a) =tg a

3
ctg(zn—a) =tga

angoli opposti

angoli che differiscono di 270°

quarto quadrante

quarto quadrante

sen(—a) = —sen «a

sen(—a) = —sen «a

sen(270°+ @) = —cos a

3
sen (En + oc) =—cosa

cos(—a) = cos a

cos(—a) = cos a

cos(270° + a) = sena

3
cos (En + a) =sena

tg(—a) = —-tga

tg(—a) = —-tga

tg(270° + a) = —ctg a

3
tg (571 + a) =—ctga

ctg(—a) = —ctg a

ctg(—a) = —ctg a

ctg(270° + @) = —tg a

3
ctg (zn + a) =-tga
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